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Cuadro 11 (continuación 3)/Table 11 (continued 3)
Guatemala: tablas abreviadas de mortalidada

 Guatemala: abridged life tables a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.100 0.093  100 000  9 335  93 466 0.895 b 5 506 925 55.1
1 4 0.011 0.043  90 665  3 873  353 945 0.961 c 5 413 459 59.7
5 5 0.004 0.017  86 792  1 515  430 171 0.987 5 059 514 58.3

10 5 0.002 0.009  85 277   796  424 393 0.988 4 629 343 54.3
15 5 0.003 0.014  84 480  1 164  419 493 0.982 4 204 950 49.8
20 5 0.005 0.022  83 317  1 860  411 934 0.974 3 785 458 45.4
25 5 0.006 0.030  81 457  2 441  401 182 0.967 3 373 523 41.4
30 5 0.007 0.035  79 016  2 778  388 134 0.963 2 972 341 37.6
35 5 0.008 0.039  76 238  2 981  373 734 0.958 2 584 207 33.9
40 5 0.009 0.044  73 256  3 225  358 218 0.952 2 210 473 30.2
45 5 0.011 0.052  70 031  3 667  340 988 0.941 1 852 255 26.4
50 5 0.014 0.067  66 364  4 424  320 761 0.922 1 511 267 22.8
55 5 0.019 0.090  61 941  5 557  295 809 0.890 1 190 506 19.2
60 5 0.028 0.132  56 383  7 445  263 303 0.845  894 697 15.9
65 5 0.040 0.181  48 938  8 877  222 500 0.788  631 394 12.9
70 5 0.056 0.248  40 062  9 949  175 435 0.701  408 894 10.2
75 5 0.090 0.367  30 112  11 037  122 968 0.574  233 459 7.8
80 5 0.143 0.520  19 075  9 916  70 585 0.426  110 491 5.8
85 5 0.223 0.687  9 159  6 294  30 060 0.280  39 906 4.4
90 5 0.328 0.825  2 865  2 365  8 414 0.161  9 846 3.4
95 5 0.450 0.914   500   457  1 358 0.052 d  1 432 2.9

100 ω 0.581 1.000   43   43   74   74 1.7
Mujeres/Females

0 1 0.093 0.087  100 000  8 712  93 902 0.900 b 5 900 375 59.0
1 4 0.011 0.044  91 288  4 040  356 282 0.960 c 5 806 473 63.6
5 5 0.004 0.019  87 248  1 622  432 186 0.986 5 450 192 62.5

10 5 0.002 0.009  85 626   728  426 312 0.991 5 018 006 58.6
15 5 0.002 0.010  84 898   863  422 335 0.988 4 591 694 54.1
20 5 0.003 0.014  84 036  1 196  417 188 0.984 4 169 359 49.6
25 5 0.004 0.018  82 839  1 499  410 449 0.980 3 752 171 45.3
30 5 0.004 0.021  81 340  1 728  402 381 0.977 3 341 722 41.1
35 5 0.005 0.024  79 612  1 934  393 224 0.974 2 939 342 36.9
40 5 0.006 0.028  77 678  2 211  382 860 0.968 2 546 118 32.8
45 5 0.007 0.035  75 467  2 669  370 661 0.959 2 163 257 28.7
50 5 0.010 0.047  72 798  3 431  355 411 0.943 1 792 597 24.6
55 5 0.014 0.067  69 367  4 633  335 250 0.914 1 437 186 20.7
60 5 0.023 0.108  64 733  6 961  306 265 0.869 1 101 936 17.0
65 5 0.034 0.157  57 773  9 052  266 234 0.813  795 671 13.8
70 5 0.050 0.222  48 721  10 835  216 518 0.728  529 437 10.9
75 5 0.081 0.337  37 886  12 765  157 520 0.603  312 919 8.3
80 5 0.131 0.488  25 122  12 272  94 929 0.459  155 399 6.2
85 5 0.199 0.644  12 850  8 282  43 545 0.319  60 470 4.7
90 5 0.288 0.782  4 568  3 573  13 907 0.200  16 924 3.7
95 5 0.394 0.880   995   876  2 784 0.077 d  3 017 3.0

100 ω 0.511 1.000   119   119   233   233 2.0

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


